Pattern 1. Knit a Poppy (or a flower) ‘flat shape with petals’ quite a difficult pattern.

1 ball red double knitting yarn, (or chosen colour)
Scrap of black yarn for centre (or chosen colour)

Pair of size 8 or 4 mm pins

Body of poppy using red, cast on 84 sts

Row 1: (RS) K20, W&T (Bring yarn to front, slip next st purlwise, bring yarn back, slip slipped st back on to
left hand needle and turn)

Row 2 : (WS) K2 tog tbl, K14, K2 tog, W&T

Row 3:(RS) K2 tog tbl, K11, K2 tog, W&T
Row 4 :(WS) K2 tog tbl, K8, K2 tog, W&T
Row 6 :(WS) K2 tog tbl, K2, K2 tog, W&T

Row

3
4
Row 5 : (RS) K2 tog tbl, K5, K2 tog, W&T
6
7 : (RS) K3, K2 tog, W&T

8

Row 8:(WS) K4, K2 tog, W&T

Row 9 :(RS) K5, K2 tog, W&T

Row 10 : (WS) K5, K2 tog, W&T

Row 11 : (RS) K2 tog tbl, K1, K2 tog, K1

This leaves you RS facing with 5 sts on the right hand needle and the next 21 ready to go on the left needle.
Repeat Rows 1 — 11 three more times. When you’ve done all 4 petals, you'll have 20 sts left.

Next Row : Join black, K to end

Next Row : K2 tog to end (10 sts)

Break off yarn leaving a long tail and thread back through remaining stitches and pull tight.

Join edges.



Pattern 2. Knit a Poppy (or a flower) ‘flat shape with frilled edge’ easy pattern.

1 ball red double knitting yarn, (or chosen colour)
Scrap of black yarn for centre (or chosen colour)

Pair of size 8 or 4 mm pins

Body of Poppy using red, cast on 102 stitches

Rows 1 —4 Knit

Row 5: S1, K2 tog, psso to end

Rows 6 — 9 Knit

Row 10 : K2 togto end

Rows 11 & 12 Knit

Row 13 : Join in black and Knit to end

Row 14 : Knit

Row 15 : K2 sts tog to end

Break off yarn leaving a long tail and thread back through remaining stitches and pull tight.

Join edges.



Pattern 3. Knit a Poppy (or a flower) ‘cupped shape’ easy pattern

1 ball red double knitting yarn, (or chosen colour)
Scrap of black yarn for centre (or chosen colour)

Pair of size 8 or 4 mm pins

Body of Poppy using red, cast on 60 stitches
Rows 1—-8: K2, P2 across the row

Row 9: Join in black and K across the row
Row 10 : P2 tog across the row (30 stitches).

Row 11 : Slip 1, K2 tog, psso to end.

Break off yarn leaving a long tail and thread back through remaining stitches and pull tight.

Join edges.
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